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2017
ECONOMICS

[ Generic Elective ]
(CBCS)
[First Semester]

PAPER —GEIT
Full Marks : 60
Time : 3 hours
Answer all questions

The figures in the right hand margin indicate marks

Candidates are required to give their answers in their
own words as far as practicable

lllustrate the answers wherever necessary
GROUP-A
- 1, Answer any fen questions from the following : 2 x 10

(@) Write down three ingredients in a basic
competitive model.
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What is price system 7

What do you understand by marginal rate
of subsititution ?

State the law of demand and law of supply.
What is price elasticity of demand ?
What is cross price ¢elasticity of demand ?
What is Giffen good ?

What do you understand by consumer -
surplus ?

What is budget line ?

What is quasi rent ?

What is production function ?
What is opportunity cost ?
What is isoquant ?

Define marginal productivity and average
productivity of labour,

Define real wage.
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GROUP--B
Answer any four questions from the following : 5 x 4

2. How would you measure price elasticity of detnand
at a point on a linear demand curve ? Explain. 5

3. What is marginal rate of technical substitution ?
Explain the concept of returns toscale. ™ 2+3

‘4. What is monopoly ? What do you mean by
discrimination by a monopolist ? 2+3

| 5. Explain the determinants of individual demand. 5

6. Describe the stages of production when one
variable input is labour and capital is fixed. 5

7. Write the features of monopolistically competitive
market. 5

GROUP-C
Answer any fwo questions from the foliowing : 10 x 2

8. Whatisindifference curve ? Show using indifference
curve approach, how a consumer reaches
equilibrium. 2+ I+6
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9. Write down the properties of a perfectly competitive -
market. Explain how a firm would reach equilibrium
in shert run under perfect competition. 3+7

10. Discuss short-run and long-run equlibrium of a
monopolist. 6+ 4

11. What do you understand by VMP, and MRP, ?
Discuss backward bending supply curve of labour.
Write functions of trade union. 4+3+3
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